
Multiply 2 Digits by 1 Digit

1. There are 21 biscuits in a packet. Miss 

Platt buys 4 packets. 

How many biscuits does she have? 

4. Tom multiplies a 2-digit number by a 1-

digit number. Which numbers did he use? 

2. Complete the calculation and draw 

the missing place value counters. 

5. Zara and Alfie are trying to reach the 

target number. Use their digits to make a 

2 digit by 1 digit calculation with the 

nearest answer.

3. True or false? The answer is 84. 6. Mia’s teacher asks her to find, explain 

and correct her mistake.
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